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N.B. (1) Question No. 1 is compulsory.
(2) Attempt any four from remaining questions.
(3) Assume suitable data if necessary.

1. Attempt any four questions from the following :— 20
(a) State and prove Barkhausen criterion for sustained oscillations.
(b) Write short notes on CASCODE amplifier.
(c) Explain the use of swamping resistor in Differential Amplifier.
(d) Explain design steps for Heat sinks.
(e) For the following circuit, determine corner frequencies and bandwidth of the

circuit :—
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2. Design two stage RC coupled CE amplifier to provide A,, = 3000, V,=25Vand S=8. 20
Determine R, , R, V, of the ampiifier you have designed.

3. Design class AB power amplifier for following specifications :— 20
P, = 12 W, load resistance = 15 ohms, V= 12 V,
Calculate circuit efficiency, draw DC load line.
Calculate power dissipation under zero signal conditions.

4, {'a} Détermfn_e lower cutoff frequency E}r amplifier shown in the figure — 14
o
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= - =9 :
Cs = 0-01 pF Cg=2pF
R, = 10 KQ R, = 4-7 KQ
lpss = B mA R = 1 KQ
Cp =05 pF R =22 KQ
Rg = 1 MQ Vo = 20 V
s e 1= [ TURN OVER
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(b) Explain Miller effect in amplifiers. 6
5. For the amplifier shown in the figure determine '— 20
A Feedback factor §, A,,, Identify feedback type
E H.n' RI“I
C R, R,

(b)

(b)

RC, =3 K, RC, =500, A'=Rg=12KQ
RC,=50€Q, h,=11K, h, =50 Vg =156V.

VC¢

[

Draw Equivalent circuil without feedback.

Derive the expression of differential gain, common mode gain, CMRR for dual 10
input balanced ocutput differential amplifier.
Derive the expression of I and fT. 10

State and explain Wein bridge oscillator ? Derive expression of its frequency. 10
Explain in detail one, two, three pole amplifiers. Give necessary derivations. 10




91-mk : 1siHE-11,

Con. 2946-AK-1854-11.

AW 650 — U 05 $T Qi po9s vw [ J:002 MW 00g 0f (il ]3 (jeaid4y)
METDL650 Dol T UM 0§ ¥ Q1 ppot vuw 7 JeSLL MW O0E 0% 0s 0s
Jo§E #a0gD fip3ddy) JeE2® 1110A 110 SOA s
"o i3 g s30A ‘A= 8 " xous '} wow Ty xow Py xow %%y yow ™
o - 1341 130
S . , . = e — U s

00 | 0000 (0D |00 |00 |00 00 |50 |01 |91 |2T|0E |0F ViUl sgp —— —— = U o0t <
00 | Q0 |00 |GO |70 | B0 | LT | LT | €€ {OF |97 [PS |05 | DL vu ‘diy sa) HH =T H MMMM M
00 [$0 | U [oe jee [ [Ty [ws (19 |89 [9L [E£8 [06 |01 Vi Cxew gaj AWD0  LOF X 2 QvinE 1y s ;
¢t | se |oE sz |we Izl |z ot |80 [90 |v0o |20 |00 f]0A SDA- o 61 * 76 Qsz ¥l {dNd)
SOILSIHTLOVIVHD TVALAN L3d0—\1 mag  "WR¢0 -0 xg1  Qngl oy :
L EX] oy iy 2dd ¢

— — 60 005  O0ff 0w OSy O Q0L STl 9 — T oS sT0 10 <20
— - — i3 43 = £9 — 13 001 o - = 0t 8 S0 50 §2T'0 ( dNd
—_ = 60 09¢ 1144 STl ore 081 st $T1 9 - 0§ op oc §20 10 S0 _
§0'0 ¢t 60 082 06 0s 08t 06 0s 00z 9 - 59 0% oL 90 LD 0 Q
£0 0-¢ 1 Sit 09 £ ort 0s ok 0s1 8 - — oy 0s 0l 0F 00t &
0 SE 51 SZ1 SL 5z oot 0s (34 00z S 09 €< 0g 09 01 0% 008 <
(0 S Bl 0zl 0 St 0L 08 0t 00z L 06 0L 09 0ot 11 051 $Etl ¢

JalM i LY I Yol @k v Uu_‘ »p 'YP OCXP FIOA TP SN0 TP ap shey  sney
Jeti M)s el e Xow [ sijoa  sjjea  (mng)  (ERR)  Enen SNOA D62 @ D82 @ adfy 40

#00q0 0 b o goudiy peug wed weamz g Gy MW Ry ey ey PA xowdp xoupy

D4z g
LAAHS v1va DAaa
{



